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Read the following instructions carefully before you begin to answer the questions. This Question Booklet
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English and Odia language as far as practicable.

999699 289 RBRIgeg &7 gee F6R4I9R1 9Q A8RI6R AL | IT 99 d8RI6a 120 § S5 2@ gz Y
g4 a88; el A - SRICER 6186 Gag6a 70 §, B - FRIG6a arale! @8R 20 & 49° C- GRldse 6Ge 9a6a
30 § | 69669Q QAR A - FRITR JFIER A0 eralal 8 632 UNIea TS |

INSTRUCTIONS FOR CANDIDATES
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1. This Booklet contains in all 120 objective type questions with
multiple choice answers as detailed above.

2. All questions are compulsory and carry one mark each.

3. Before answering any question, checkup the Booklet and ensure
that it contains 24 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

4. The Invigilator shall supply you the blank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

5. A machine will read the coded information fumnished by you in the
OMR Answer Sheet. If the information so furnished by you are
incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

6. These instructions must be complied with fully failing which your
Answer Sheet will not be evaluated and Zero mark will be
awarded.

7. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

. Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

9. Read carefully the instructions of answering each question before

answering it.

10. Answer the questions as quickly and carefully as you can. Some

questions may be easy and others difficult. Don’t spend too much

time on any question.

11. No Rough work has to be done on the OMR Answer Sheet. Space

for rough work has been provided in the Question Booklet

wherever needed.

12. You must not carry into the examination hall/ room any book,

mobile phones or electronic devices printed/handwritten papers

except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.

oo

N

o8
10.

kb

12,

. MZ g37168 U6AIS F160 66115 120 § GG 0% Y8 Y g4 28 |

AAIS g4 AUSITRS I° GERHAER IR CIIF 213 |

. 6ql6d gge o9 6941 2KIQ GIRIE 6aY ceugR 1gea 24§ g 2B 6

ewled qal aiE, aa G4l gAaIgR caIRAIT | 6Flad gdeen oig gas
Q2R FAR GG

. IRNES 2T FOTOIER BFIRG QAR TG 6961 | AOR TR QI

aIded Qe VRER BIASIE 6RIRGER, IFIYIF GFRRYR 1e° I
JE] 6RIC QRS @O IS° AGAA QI/ALIGEG 6RaR FR/G1R AFQ
SRANG IR I8l FIF 99 | 620168 gea AR AIREE ARNEIR FIF,
GIB8 8 69R GHG RIEE RS Y&° 6x19d g4R QRN 6aQl ALY AR
gel @g8e Gag |

. BNFIQ QERTIE6R 2Ad AERY FRYSI ACTER GeNg 6915 a7 Ao

@89 | 604 AT I gas cal UE @aslIe adsa Gell AiRgal GENOIR
aee &9l 2agd g9, AT FM AIS 9IS FAUTR |

. 2 Geaslonig I°gdaIse fHG aIRe @ag , Ml AT 06R 98

IRISE QIR AIfe AIF 99 g AIF gaIe SRITS |

. 968 TeQ QITIE 41468 YOl AYS g4 IR UGRA Q/AVYEYG 6FR

SR/FR HTQ ARANS R T8l FHE gdelse FIF 98 eer F2F |
FR/G1R OR AN GRE 9101 QIR € 831 988 AIR 66d AIF FUFR
QT

. o8l 2R/ERI0R1 BIEQ! q_é@ Zdsiw QeREQ daties E2SR oK

AIRER 2O ARAIGRIR @SS10 6261 |
066 6TRIGLR YERIT I4R OB AIR FEREIeRT AQ ATRICR AF |
65I6@ Si1g B U], ATRIER AIRES G4 G50 0B T2 | 6R6ER g4 AeR
R 6RE0R R0R 62IRAICA | 65161 gE6a UGIYR AR FIFEG AT |
B4AIR QERTRER A FIF GRET FIT | 6UN0 20NS 9§ YIRI6R O
QFDIR SRS G2 AR |
624l 9@ NG16 6@6Id QF, SIAI/2AGRS | FIGR, CFIFIRR 6] GEl
6aQI0R QaRad BIdd a1l TR/6FION BEaY 6AR AIFES @IF |
QACAIB F6ESIRIR 6TEIAT AGARRER YRIARER IIG 2AQ
Q@I LSRR 6IR F6LOR FAITR IS ARTIRINNT TQRER UGS
I IgIIe *QIFS |

DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO BO SO







LS-MEOO-16 / A/ Page 3 of 2

Section - A : Mathematics

1.What is the square of 11117
1111 @ 99 6Q69?
A) 1234321 B) 12321 C) 1112311 D) 1232341

2.What is the rate of interest if a sum of Rs.4000/- becomes Rs.5000/- in 5 years on
simple interest?
QAeR Q¥ 2186 4000 S 5 986a 5000 SFIg 9F 626R, QIR 2R 6R6E ?
A) 10% B) 8% C) 5% D) 4%

3. Which of the following four logical diagrams correctly represents the
relationship between Tie, Shirt and Shoe?
3¢l oo 9166 Gg FrIQ 6298 BN, QIS e° 6916Ig gEGNQ @98 ?

> S
(B) (©

(A) (D)

4.1f the position of the last 2 digits of a 3 digit number are inter-changed, the new
number thus created is 54 higher than the original number. What is the
difference between the last two digits of the number?
9@ Ghae 558 HIQ 688 QRIFR AR ARDS 6, RYR LI R A°IHIOIR 54 2@
24 | 6369 659 @R UFQ AUBR 6REC ?
A)b6 B)9 C) 12 D) None of these

5.Nabaghan borrowed Rs.10000 from a bank at interest rate of 10% and lent the
same to two persons at 13% interest. How much profit will he earn after 5
years after repaying bank loan?
6eae 10% 21060 QUIsq 10000 661 @68 @8 13% IR YRR 6RIGT 908 69al 1 5 Qd
EAY6Q 6Q%Q PI'Q QI QS AREHRI AR 6R60 ST RIQ AR ?
A) Rs.1200 B)Rs.1500 C)Rs.2100 D) Rs.2500

6.A sold a bi-cycle to B @20% profit and B sold the bi-cycle to C at 25% profit. If C
purchased cycle at Rs.1500, what is the sale price of the bi-cycle?
A, B § @ 2asaR 20 % RI96R 6 B, C § 25% RIesa §ax6m | 9@ C aisang 1500
IR PEiEI, 6069 ANCANA FFIRNY 6REC TFI 6297
A) 1000 B) 1100 C) 1200 D) None

7.In a certain code, 5 9 2’ means ‘Come and Play’, '3 5 7" means ‘Go and Sleep’
and 2 1 6 means ‘Play but Read’. Which of the following means ‘Come’ in that
code?
65163 QI6RER6R 59 2 @ ad “AId e 685" 35 7 @ 218 "2 N9° g2 e° 2 1 6 Q 2
“‘Coin @9 AQ" | 693 ACHTRER F6qIB 6995a 2 “Come” ?
A) 5 B)7 C)?2 D)9
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8.What smallest number shall be added to 4515600 to make it a complete square
number?
4515600 60 696 F9OF1 S 6218 R6R ATTR 9@ 9ed QS 6297
A) 23 B) 64 C) 25 D) 16

9. The minimum mark to pass an examination is 33% of the total marks. A student
secured 220 marks and failed by 11 marks. What is the total marks of the
examination?
665N 9QIFIEA TIF RARI IR ASGE] FFQ 67118 e 33% | 9661 818 220 fge o 11
A IRl 6TR 626R | ARITIER 641G RN 6REL g ?

A) 800 B) 700 C) 900 D) 600

10. Three different positions of a dice with numbers inscribed on each side have
been shown in the following figures. Find out the number opposite to 6.
76718 596|FR6R Y6G4R AIFER LHIICIR CRHIUIR 6915 ATGR 61T S0r &6
QIIQIRE | 6 @ FARIG AT el AT 6266 ?

4 1 1
1 |6 4 |3 =Y
(A} a (B} 3 (Cy 1 (D)2

11.1f the ratio of the sides of 2 cubes is 3 : 4, what is ratio of their volume?
@ﬁ)@ (2[R ng AT acim@ 3: 4 696@, CAAIRER 2SR 294w EREL 699 ?
A)3:4 B)4:3 C)64:27 D) 27:64

12.A bicycle was sold at a profit of 20%. If both the cost and the sale price are
decreased by Rs.100, there will be an additional profit of 4%. What is the cost of
the bicycle?

IR ARCIRG 20% RIVEA IF AR | 97 292 ARY 8 FGARIER $.100 RSN QLI
6069 4% 2@ RN RS | ANEKRA AR 6066 ?
A) Rs.500 B)Rs.600 C)Rs550 D) Rs.650

13.5 years back, the age of father and son together was 45. What will be the sum of
their ages after 5 years?
5Qd 969 Q19 8 gaQ @9 618 45 ad gRl 1 5 QF 96Q 6AAINER QAAR AT 6266 6217
A) 65 B) 60 Ci55 D) 50

14.Select the missing number of the circle from the responses given below.
F69I2 QRQ FIGT FRIQ 6995 QRQ FEHIF Y Al 2637

11 i

A) 34 B) 90 C) 65 D) 85
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15. Which of the following are the pairs of co-primary number?
F6C1I8 61T FRIQ 694 6AIBT TAAR 691RR A°Fl 6218 268 ?
A) (32,62) B)(14,35) C)(31,93) D)(17,19)

16.Rahim reared some hen and goats. If the heads of the hens and goats are 90
and their legs are 248, how many goats did Rahim rear?
Q@01 38 990! 8 687 AR 1 AG 687 8 @geIw 8 4 90 6 6alIe F18 248 24, 6969 AFF
ER60IT 685 AR ?
A) 32 B) 34 C) 36 D) 40

17.When from 5 persons, one with 60kg weight left and a new man joined the
team, their average weight increased by 2kg. What was the weight of the new
man?
5 @8l 6RI9F FRIQ 60 @.9. 6ea9 G964 6RIF ALUAUIRN AKSE6E G2 6RIS GlF ATE 6419
6QIT6Q 6ATNRETR AR 8RR 2 @.9. QLRI | 6969 Q2 6RIRTA BRR 6@6E ?
A) 50 kg. B) 65 kg. C) 68 kg. D) 70 kg.

18.In how many years a sum of Rs.5000/- will become an amount of Rs.5832/- at
compound interest rate of 8% per annum.
Qe 8% 21860 5000 SFIQ AR 9F9E Qo 6766 ¥6a 5832 G 629 ?
A) 3 years B)2years C)4years D)5years

19.By what greatest number will 756, 2249, and 8227 be divided to leave the
remainders of 9, 8, & 10 respectively?
3= QERC A 9Ial 756, 2249 8 8227 @ QUIRER QUGS LD2lIgee! 9, 8810QEe?
A) 77 B) 747 C) 889 D) 898

20.The simple interest of some principal is its 16/25. If the rate of interest and the
time are same, what is the rate of interest?
=NER MU Aa G (AR 16/25 2°dl 1 9@ Qe QIQ QIR B A1 AR 99, 6069
RIA LR 696G ?
A)5 B)8 C)7 D) 4

21. What smallest number must be subtracted from 34967 to make the result of
subtraction a complete square number?
34967 @ 624 YGOF ¢l F6LUIT FER, FEAUFTR 9@ GI Al 629 |
A) 371 B) 317 C) 316 D) 361

22.fA:B=3:4andB:C=8:9, whatisA:B:C?
QGA:B=3:48B:C=8:9g46069A:B:C6x6a7?
A)6:8:9 B)8:6:9 C)9:8:6 D)3:32:9
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23. What will be total compound interest of Rs.8000 in 9 months at compound =
interest rate of 20%, if interest is calculated once in 3 months?
A3 3 Q1] 26a P 8@ KNI, 8000 e&1a 20% 9998 Qv 2106 9 F1IAQ 6418 9GR
R 660 629,7
A) Rs.1250 B)Rs.1258 C)Rs.1261 D) Rs.1270

24. A book was sold at a profit of 12%. There would have been 18% profit if the sale
price was 8 paise higher. What is the cost of the book?
6AIGN QF 129 RIVER 87 QRIGRI | SR 2Ia 18 AaQl 2 62IR6R 18% RIR 621N
| 925Q QUCRY 690 ?
A) Rs.5.00 B) Rs.2.00 C) Rs.4.00 D) Rs.3.00

25. What shall be the percentage of profit if a shopkeeper sells 2 lemons at the cost

price of 5 lemons?
@661 6QIRIR1 5 & 6RFQ @4l QIFER 2 § 6RYF TTREM SR IORE RIN 6REG7
A) 100% B) 125% C) 150% D) 130%

—-1331

26.\What is the cube root of =
~1331 5 Qeae 6960 ?
4096 &~
11 21 21 11
A) -3 =) e C) 5 D) -

27. An examinee secures 30% marks and fails by 50 marks in an examination.
Another examinee gets 320 marks and fails by 30 marks. What is the maximum
marks of the examination?

@641 AQIRIE IR AIVIER 30% 97 g 50 FIF AR 6TR g4 | 2R 9641 AV 320
Qga 9 30 €6 AR 6T7R 94 | 6969 AIFIQ AR FIF 6R6E ?
A) 700 B) 800 C) 900 D) 1000

28.1f 517 * 324 is divisible by 3, which of the following small numbers will replace
the star mark?
QG 517 * 324 HYIT 3 FIGI TR 2, 6669 * Y2 FIFER F6YIB 629 JO LHIIT 08 ?
A0 B)1 C)2 D) None of these

29.1f the salary of A is 25% higher than the salary of B, by what percent is the salary
of B less than the salary of A?
UG A Q @9l B @9l @ 25% AR 99, 6962 B @ @l A @AAIQ S0RE] 6R6S @1 ?
A) 15% B) 25% C) 10% D) 20%
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30. The depth of a water tank of cube size of equal sides is 200cm. If 1000 litres of
water is drawn-out of the tank daily, in how many days will all the water of the
tank be emptied?
66T AARRIRIQ QI8 FIFQ FR1eG! 200 6Q.6 1 9gQ 647@ 1000 Kea QIS FILERER 666
QR6Q QISIeR 688 6QIRLS?

A)4days B)6days C)7days D)8days

31.f white is called Red, Red is called Blue, Blue is called yellow, Yellow is called
Black, Black is called Green and Green is called Grey, then what is the colour of
the clear sky?

A3 URIQ AR, FRNY AR Ne° FIRQ 2RG QLIAN, 2RTAIG AR, *RIQ AFE W° ALY AR
QLIAIN, FR AR QT FEI?
A) Red B) Blue C) Yellow D) None of these

32.A, B & C start a business by investing money in the ratio of 5: 7 : 6. Next year,
they increased their investment by 26%, 20% and 15% respectively. Profit
earned during the second year shall be distributed in the ratio of —

5:7: 62901660 98 5696@A A, B 6 C 66154 91ei 2102 908 | 61 aaed 6a¢lise 98
Geqaq RIge 26%, 20% 19° 15% Q@Ia G248 | 616 9F 621nRel RIAg 664 AGAIGER
Q4Q QAL ?

A)21:28:23 B) 26:20:15 C)31:27:21 D) None of these

33. Three of the following four are alike in a certain way and hence form a group.
Which is the one that does not belong to that group?
Gele SIRE FrIQ G6aIE 66 FaT YgER AAIE | 6296 628 601F1R G6% ?

A) OSV B) NRU C) GKN D) EHL
1fX=(3 +VB), then, (x + =)= ?

9@ X =(3 +VB8) 99, 6069, (x? + ;)= 6966 6297

A) 38 B) 36 C) 34 D) 32

35. Which of the following boxes can be created by folding the given key design
in the question figure?
94 66a geR O 60HI0e] AITRR F67IS 696 AIFE CaIR KR6aq?

Question Figure Answer Figure
4 6 P W L8 L&A
5 1.8 2 4 1313 215 | a1
3 | 2 (A) (B) (€) (D)
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36.In a joint venture A & B invested money at a ratio of 3 : 2. If 5% of the total profit
is donated to a charitable institution and A gets Rs.1824, what is the total profit?
A 8 B 9@ 6412 4QQIN6R 3 : 2 AGAIG6R 22 FFEIT [6M | 9T 6716 RIVA 5% IR QSN
QAR Qe KRN ¥° ‘A’ 1824 ol AIN, 606 6¢1IS' MW 6R6L Sa1?
A) 3000 B) 3300 C) 3200 D) None of these

87-327x3/=2744 = ?
V27x3Y=2744 = 6960 6997
A) -52 B) -42 i na D) -24

38. The average monthly salary of 10 employees working in company is Rs.6835
and the average monthly salary of 3 women employees among them is Rs.5428.
What is the average monthly salary of the rest 7 employees?
6QIGN RAIFER RN 10 @4 FFCIREA TINIR AT 6965 6835 Sl I9° 6T
ARIER 291 3 @4l AERI RAGIRIFA AIAR YRR 6968 5428 SR | 606 2AXEXY 7 FIFA
ALIA FITR 6907 66 ?

A)Rs6550 B)Rs.6845 C)Rs.7238 D) Rs.7438

39.7 members of a family live for 36 days at Rs.840/-. How many days can 9
members of that family live at Rs.8107
601G QAR 7 @l Y@ 840 SFIEQ 36 @0 PRAIRE | 628 AARIAQ 9 @& QU@ 810
FFIER 6REC @R OF ANAES ?
A)24days B)27days C)30days D) 36days

40.In certain code GEAR is written as 5914 and ROUTE is 47289. How shall GATE
be written in that code?
616d AIsEER6a GEAR @ 5914 q@° ROUTEQ 47289 6m¢lIKd | GATEG 628 Q606
PAQ RHIDS ?
A) 5187 B) 5189 C) 5289 D) 5429

41. A, B & C invested Rs.114000 in a business. At the end of the year they got profit
of Rs.337.50, 1125 and 675 respectively. What is the investment amount of A?
A, B 8 C @ Q4921916 67116 114000 oa 856219 96R | 9F 681860 6271169 delixes
$.337.50, 6.1125 8 6.675 RI9 AIR6R | A @ 356216 2a ARS 6269 ?
A) Rs.18000 B) Rs.60000 C) Rs.36000 D) Rs.48000

42.The population of a town is 300000. If the birth rate is 5% and the death 3%,
what will be the population of that town after 2 years?
69T~ QAR 6MKA°H 300000 | IF SQIIN 5% G FFILIRQ 3% 6NN, 6561 2 I
d6Q 69T AL ERIR A°FYl 6R6E 699 ?
A) 321120 B) 311220 C) 312120 D) 322110
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43.How many 3 digit natural numbers are there?
o6 g QY 618 QSR QB 6RERIT 2T ?
A) 800 B) 1000 C) 900 D) 1001

44. A person sold a T.V set at Rs.3450 making a profit of 15% and sold another T.V
set at a loss of 10%. If on the whole there is no profit or loss, what is the
sale price of second T.V set?
@68 6RI9 R T.V @ 3450 6160 S 15% RIR @6 8 204 99 T.V @ 10% 866a
56 | 98 6619 QU6R AIFA NN 2 VG 621R | 2N, 6061 F1A T.V. @ 8 JRY 696 ?
A)Rs.3450 B) Rs.4000 C) Rs.4500 D) None of these

45.7 years ago the age of Ajay and Bijay was in the ratio of 4 : 5. After 7 years, the
ratio of their age will be 5: 6. What is present age of Bijay?
7 Qd Q6C 290 8 FROR QLR 2GAIG 4 : 5 AR | FBAIROIR 7 FTACR 6AFINTER FUAR
2QAIG 5 : 6 629 | 636@ FRUQ ARG QU 6966 ?
A) 56 years B)63years C)70years D)77years

46.There was 10 litres of milk in a pot. 3 litres of milk was drawn out of it and 3 litres
of water added. Again 3 litres of the mixture of milk and water was drawn out
and 3 litres of water added. What is percentage of milk in the new mixture?
Q@ €Ig6a 10 Req F18 Rl 192 3 AR V1R AR6IR 3 ReQ QIS Fdian! | g8t 1T J1e 3
aidia figQ 3 Ace Fgél @Ik 3 Mo QIS FdIcER, 9o Fg6a VIR J9@e ARG 62607
A) 50% B) 49% C) 51% D) 8%

47.How many triangles are there in the figure given below?
F6CIB TFER 66T GRE 2T ?

S,
i
s

e

(A) 10 (B) 16 (c) 8 (D) 20

48.J, K, L, M and N are five friends. Each of them has a different height. L is taller
than J & N and shorter than K & M. Only one person is shorter than N. Who is
the shortest?

J, K, L, M 4@° N QIg@¢€l @f | 62719 (IIQ J6Liae @@l Q@@ 1J9e° N g6eaql L aye
6@%F \a° K 9@° M 21608 QIR 1 6297 2681 N 2698 QIFral | 6069 &4 QAQQ QU7

A) M B) K C)J D) L



49.

50.

51.

52.

53.

54.

58.

56.

The ratio of m
guantity of mi
9@ Fg86Q IR
699, 6L6Q @MY
A) 8 liters

The marked g
continuous reg
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ilk and water in a mixture is 3 : 2. If 4 litres of water is added, the
Ik and water becomes equal. What is the quantity of water?

3eRQ 2AQAIe 3: 2 1 9@ 4 RS eRFIEI AN, 6669 F1Q 8 @Ra AQLE AR
AQLNE 66 ?

B) 10 liters D) 16 liters

C) 12 liters

rice of a watch is Rs.900. A shopkeeper sold it by giving two
bates of 20% and 10% respectively. What is its sale price?

9 9919 RYe ARy 900 e | 6QIRIe1 IE A%Ig 9aF 9196 Gels KaIges 20% 6 10%

60Q SR | IRIQ TFFRY 6R6C 689 ?

A) Rs.548 B) Rs.648 C) Rs.748 D) None of these

What will be the expenditure to dig a cubic size pit of 12 meter depth at the rate
of Rs.25 per cubic meter?

12 §iee 691a e AILIRIQ GG 6HIFAIq A8 Feags 25 ol 2AIRER 666 HF 6297

A) Rs.43200 B) Rs.42200 C) Rs.41200 D) Rs.40200

The differencg
sum of mone
amount.

Q61613 4R ¢

= between compound interest and simple interest on a certain
y for three years @ 10% per annum is Rs.248. Find out the principal

[ReR Q8@ 10% QI 216a 3 oFa 9998 QU 6 AR QIR 2SR 248 6

24, 6969 RIS ARACNS 6966 ?

A) Rs.8000

A person wen

B) Rs.8500 C) Rs.9000 D) Rs.9500

t 30 meters to the East from a place called ‘A’ and then 40mtrs to

the North to reach another place called ‘B. What is the distance between A & B?
@68 Q4B A’ A% OIQ 9= Gag 30 Fca 6 620IQ 2@a &ag 40 7. IR AR 9L AL ‘B’ 0I6a

agsem 1A BB
A) 70meters

CIRIEQ QAL 6R6L 7

B) 10meters C) S0meters D) 100meters

Pointing to a boy, Akash said his mother is the only daughter of my son’s grand

mother. How
6QlISN QIRRg @
QRS ATe A8Q
A) Uncle

Find out the v

ﬂ

s Akash related to the boy?

606 @9, 2IRIE AERI 69 SI' A2 691Q YR 2IRR RIS T2 | 2IRNIR 698
Q87

B) Father

/13 }13\/13x/'1§

C) Brother D) Son-in-law

alue of

13 /13V13V13 Q €JRY BQAS @9 |
A) 1315/16  IB) 169 C) 13 D) V13
What is the square root of 0.0533617 ‘
0. 053361 Q @%l A 69667
A)+0231 |B)+0241  C)#0249  D)=+0251
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57.Paresh, Naresh & Suresh started a business with investment of 1/2 : 1/3:1/4
respectively. After 2 months Paresh took back %2 of his investment. At the end of
the year, they got a total profit of Rs.378. How much profit will Naresh get out of
that?
A6QE, PEQE B e SORE A8 YR QYRQAIL ZIRS QEM | 6ACER 6QRYS e Agdle
QRUKEA 1/2 1 1/3 : 1/4 1 QRE1IQ A6Q A6 @' Q 6Q@EQl ()RIAQ 2l QOIR €Ml | g
681960 6AC1I6R 671lQ 378 G RI AIREM | 606R AB NAQ FEQS 6R6L T@l AR ?
A) Rs.129 B)Rs.144 C)Rs.156 D) Rs. 168

58.1n the following figure, the circle represents Men, the rectangle represents
Doctors and the triangle represents Lawyers. Find out the men who are
doctors but not lawyers.
F69)Ia 5268 98 goRR @8 N8d AIeEE, AIAGTE IERIQ AR CIBRRE I9°
G9e gt @e8 BARAIGE | 620FI6R G180 @3 6AR 928 Ada e |

. /”_“"-\,,\ / \
/ ‘}i AN
e /1 D/ I‘:
\E / i,(,i// H \
A J

(A) E (B)IH ()G (D) DE

59. How many meaningful words can be made with the letters ELMA using each
letter only once in each word?
Q6RNR JINER R AVAG ACALNIG LTIQ *& ELMA 28 2729 6070 626618 2dgs &0
Q2R IR AR ?
A) None B) One C) Two D) Three

60.10 years back, the age of the father was three times the age of the son. After 5
years, the age of the father will be two times the age of the son. What is the
ratio of their present ages?

10 od g6< dela 994 g 99aa 87 g¢ gal | 5 9gdsa JeIea @ad g8 F9da 9R g8
629 | 6069 6AMIFTA QAR FAAR 2QAIC 6R6Q7
A)10:5 B)11:5 C)12:7 D)9:4

61.1f 5% of the sale price of an article is equal to 6% the cost price and 8% of the
sale price and 9% of the cost price make a total of Rs.93, what is the cost of the
article?
A3 6015\ BRTR FRRIQ 5% B YARYA 6% AQQR ATNL N IGIRIQ 8% G QU
9% @ AAE 93 o1 99, FATTA UMY 6RES 629 ?
A)Rs.600  B)Rs400  C)Rs500 D) Rs.700
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Section - A : Mathematics

62. The average age of 25 boys is 15 years. If the average ages of the first and the
last 12 boys are 14.5 years and 15.5 years respectively, what is the age of the
thirteenth boy?

25 @4l QIeeea 2QI2IR @4 15 o8 | gafl 12 961 8 668 12 f4ea QILIA Q9Q 26T
14.5 @9 8 155 @9 626®, 13 G AIR6Q Al AR @A 62667
A) 10 B) 12 C) 15 D) 16

63. The present height of a tree is 64cm. Every year it grows by 1/8 of its height.
What will be the height of the tree after two years from now?
605N 980 Qe Q90! 64 6a.8. | 985 95ed 5 2e0Ia 1/8 2°d Q6@ 6961 FBCIROIQ

Q@ QJa6a FI80 APC! 662 LIRS ?
A) 76 cm B) 80 cm C)8lcm D) 84 cm

64. What will be the amount of principal and interest if Rs.860 is invested for 2 years
@2paise per rupee per month?
SFIgE Q1] 2 9RQl §AIREA 860 SFIR 2 TR AR R6E 629 ?
A) Rs.1227.80 B) Rs.172280 C)Rs.1272.80 D) Rs.1722

65. Which of the following answer figures will complete the question figure?
80 9o e 599Feq 6968 g¢ 58] gd eaiee ?

Question Figure Answer Figure

o

(A) (B) (C) (D)

66. A milk vendor buys milk at Rs.4 per litre and adds 25% water to it. It he sells the
adulterated milk at Rs.5 per litre, what is the percentage of his profit?
Q64 Q1R R REQ IEF 6.4 @REQ V1R @81 6QER 25% AIE AN | 9T 62 AIEFSI QG
RATQ GG 6.5 QA IFNER, PIR FORE| RN 6RES ?
A) 56.25 B) 50.25 C) 55.25 D) None of these

67.Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price
he should have sold the watch to get a profit of 10%7?
67120 OI'Q 2eAVTY 1440 o160 ST 10% 6 ATRI | 6069 6Q QLT 6Q6C TFIER
QG @agsm 10% @9 AIQelsl ?
A)Rs.1650 B)Rs.1700 C)Rs.1760 D) Rs.1820
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_ Directions for Questions No. 68 to 70: Six persons A, B, C, D, E and F are sitting in two
rows, three in each. E is not at the end of any row; D is sitting second to the left of F; C,
the neighbour of E, is sitting diagonally opposite to D; B is the neighbour of F.
g4 Q&1 52 @ 54 QIR F6a6IeRT A B, C, D, E \9&° F g6oia 2IG6a §0a8 6R%IN 9ad JIF6a
Qdgd | 6Q19d dIGR 6896Q E 9F QI F @ Q1999 §010 9I96a @38 D; C 69 @ EQ 962181 DS
QARG 6% 608! @I6R @AF; F @ A6w14l1 6228 B |

88.Who of the following are sitting diagonally opposite to each other?
F671I2 699 691G IR2R 6998INES RTRE?
A)FandC B)DandA C)AandC D)AandF

69. Who is facing B?
@B Q qe *6 @328 ?
A)E B) C D) D E) A

70.Who of the following are sitting close to each other in same row?
56018 6290168 Jada Fasea IRl MIGea odad?
A)AandB B)AandE C)CandB D)EandD

Section - B : English
Instructions: Read the following passage carefully and pick out the correct one out of four
answers given below the Question No.71 to 80.

(1)Gender-based violence, including rape, domestic violence, mutilation, murder and
sexual abuse is a profound health problem for women across the globe. (2)Although gender
violence is a significant cause of female morbidity and mortality, it is almost never seen as a
public health issue. (3)Recent World Bank estimates of the global burden of diseases indicate
that in established market economies, gender-based victimization is responsible for one out of
every five health days of life lost to women of reproductive age. (4)On a per capita basis, the
health burden imposed by rape and domestic violence in the industrial and developing world
is roughly equivalent, but, because the total disease burden is so much greater in the developing
world, the percentage attributable to gender-based victimization is smaller. (5)Nonetheless, on
a global basis, the health burden from gender-based victimization is comparable to that from
other conditions already high on the world agenda. (6)Female-focused violence also represents
a hidden obstacle to economic and social development. (7)By sapping women’s energy,
undermining their confidence, and compromising their health, gender violence deprives society

of women’s full participation.

71. How does female focused violence stand on the way national welfare?
A)Women are killed by female focused violence and unable to participate in welfare

program.
B) Women do not join national welfare program in apprehension of gender biased

violence.
C) It drains women's energy, reduces their confidence, affect their health and hence

deprives them of full participation in economic and social development.
D) Women have not been given adequate representation in programs of national
welfare.
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72.What according to the author has never been considered a public health issue?
A) Female morbidity and mortality. L
B) Rape, murder, sexual abuse and domestic violence.
C) Gender-based violence causing morbidity and mortality.
D) Gender based violence affecting women.

73.What is the burden of health problems caused by gender-based violence on the global

level?

A) Almost the same as that of health issues caused by other conditions already high on
the global agenda.

B) Greater than any other health problems in the WHO agenda.

C) Smaller than any other health problems.

D)Higher than the health issues caused by other conditions already high on the
international agenda.

74.How does the author compare the developed and the developing countries in the

quantum of health problems caused by rape and domestic violence?

A) The health problems caused by rape and domestic violence in the developed
countries are higher than that of the developing countries.

B) The health problems caused by rape and domestic violence in the developing
countries are higher than in the developed countries.

C) The quantum of health problems caused by rape and domestic violence in both the
developing and the developed countries are approximately the same.

D) The ratio of health problems caused by rape and domestic violence in the
developed and the developing countries varies from time to time.

75.Why the percentage of health casualties caused by gender based atrocities is smaller

in the developing countries?

A) The total health problems is smaller than the gender based problems.

B) Compared with the gender based problems, the total disease burden in the
developing countries is much greater than that of the developed countries.

C) The total health problems is roughly equivalent with the gender based problems.

D) Compared with the gender based problems, the total disease burden in the
developing countries is smaller than that of the developed countries.

76. Which of the underlined parts of the following sentence is not a Transitive Verb?

By sapping women's energy, undermining their confidence, and compromising their

A 5
health, gender violence deprives the society of women's full participation. None
C D

77-Which of the underlined parts of the following sentence is neither a Noun nor
Pronoun?

Gender-based violence, including rape, domestic violence, mutilation, murder and

A B
sexual abuse is a profound health problem for women across the globe.
C D

78. Out of the sentences numbering 1 to 7 given in the passage, which ones or one is/are
Compound sentence/s?

A)sentence 4 B) sentence 5 & 7 C) sentence 6 D) sentence 3 & 4
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79. Out of the sentences numbering 1 to 7 given in the passage, which ones or one
ontain/s Passive verb pattern/s?
A)sentence 1 & 3 B) sentence 2 C) sentence 4 & 5 D) sentence 6

80. Which of the underlined parts of the following sentence is an Infinite Verb?

Recent World Bank estimates of the global burden of diseases indicate that in the
A B
established market economies, gender-based victimization is responsible for one out
C
of every five health days of life lost to women of reproductive age.
D

Instructions: Fill up the gaps with appropriate Verb/Auxiliary Verb/Preposition from the
alternatives given below the Question No.81 to 85.

81.1 like listening to the radio but I am not always impressed the quality of
the programs.
A) with B) at C) about D) by
82. Take possession of the records immediately so that they are not with.
A) tempering B) tamper C) tampered D) tempered
83.Treland was part of the UK, ?
A) Isn’t it B) wasn’t it C) hasn’t it D) weren’t it
84. Will he completed his work by tomorrow?
A) had B) have C) has D) been
85. The ski resorts are usually crowded. There are many people skiing.
A) enjoy B) are enjoying  C) who enjoy D) who enjoying

86. He enquired, “‘When do you intend to pay me?’- Change the sentence into indirect
speech.
A)He enquired when I intend to pay him.
B) He enquired when I intended to pay him.
C) He queried if I intend to pay him.
D)He queries when I intend to pay him.

87. Identify the sentence-Kailash Satyarthi was awarded Nobel Prize for Peace in 2014.
A) Declaratory B) Exclamatory C) Interrogatory D) Satisfactory

88.1 always love my country. - Change the sentence into negative without changing its
meaning.
A) There is no occasion when I don’t love my country.
B) There are occasions when I don’t love my country.
C) There is no occasion when I love my country.
D) No occasion is there when I love my country.

89. Pick out the correct sentence from the following.
A) None of the two books is useful. B) Neither of these two books is useful.
C) None of this two books is useful. D) None of the above.

90. Identify the degree of comparison in the sentence- Some beans are at least as

nutritious as meat.
A) Comparative B) Superlative C) Positive D) Negative
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92.

93.
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Section - C : Odia

FeaaIent: §¢ RYE 29eReTE U ALRIER AR IS° 6l 96 GRS g4 Q6 91 @ 95 @ A0R
Qe da @93 |

ARIQEIGS BUICF QYR TR 69 692 Ya@ 399, 62 F1l 6QIJ1, VAAR, BT 9108 9F | ATRT
QI AR 908 Yeea QAL GFaIN, FIg ¢ AIHER & AN G] @98 | O FFAIER ARYAEE SINRER
QERINY 62985 604 62 6FAISH GEAE 24 NG° 6ARIRE ATFBIER 62 696% Y1 62RANCR AT | B
QIHER & & VIS AFR, GIg 697 62 2ICARS I | YA IR 64 Fag 99 I&° JRTIQ ACRRER |
g 9ilal B YRAIRER F8F @190q 62 OF VIS QUCAIT *ARIQ SBS 4 | 65QIY 6N 629, AR
gRUeIq 2IY 607 Q6T 1e° GIg 2 gode QERIg, 62 QIR G4IN | 2QEY B Q18] BIE] LERIRSIR
RIS G Q CIRY 2 AR KEA @4, “6¢ll AR TP g2 ..... AT AARAIA FFIRG PR ASAIER
410 602" | BaRUde BIQ GIaR /28, ‘62 64188, @ KR4, $67 IR F1IRRER ARY1Y”| 6UELEER 18T
sdleagd, G AIS6Q 28 AGES 9B, @3 AAAYGIR ANS; IS° 6ACCERER TIg O, 62 AAAYW! I
2RRGIQ AYRIQT 24, 73 6TRegd 6B G AIYER @ AN | N8 edlergd B W& afaReIq IR0
Q19629 6298 e YRR QR | 19l 6AEEEIER AR 6UCRERER 69 F1RRYT TSR QIa6T
21204 96Q | Q@ 9Faa AdSQ 990 FIeg 59 | AR 2SR “2.21.L." ENIRR AT | IR

Qge Y& 2gaRe QRAER go1e 6208 — 8 | 19 d@4IR1 9e° Q16 2198 49 62Rl- 2 | ATCHTER
geYe 2IFQ AFIY FERY AMLRER 928 JRIY QA6LIF, LG QLIAR AR — @ |

6d1engd 88 1e° 919 Q0ae JRUReIg IRI0 dIRQIq CRMGE F166a 2IFa JeTe1T @'

QAQIQ 6297

A) S100gE 1@ QgD \Ye° AgARY QIR MIAd KARIq 629 |

B) QIR 222" 6F19RR NG KRRIg 629 |

C) FIee AARER IR SBSIRT IQ° AR 214l Qs @< |

D) §196 QI986R g2 Ie° 2gAdg 9Tad], 92 I9° AAILIR 219l Ie° AREHTER AFS @BRY
ARR6R S28 Aegd QUS|

390 990 QIZ6 ATRG! AIA ARAISA FIF?

A) 390 YR 78 e AR 9F 6qRI1 61NN |

B) Qoeel 9id ARl YO8 Jeea aQIg 0F @ 2 |

C) @90 Yae AIHER @ 2N O] @64 |

D) areel 9id ARl YO8 eea adie @ @] Qe @ &l |

Qeele YdeIa 2R KE1?

A) edleeqd 68 e gIg eoae 208eIg IRI0 QIgeedl |

B) 6d1ensa 6dlergd 9@ 6 9Ig @02 AROReIR SRR 624! |
C) ¢Ig eud& IRARE! Ie° RRGIA 2RI 629! |

D) edlengd 6@ 1e° aQAReIq 919 AR GIF62R 624 |
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94. 396 Qe QIR 59g 98 Ye° FRL1R A6RRER?

95.

96.

97.

98.

99.

A) 9g8aId6a AQUFIGT ATRG! 641G SR EFAUNIRIL B B FIF e ATFE! 2IAR AN FeR
VIS SVLER TR 94 |

B) ZQYAIoE ATRGIER 6Q 606 JH1 @FAI6R QIF N9° GIg 66R 62 AICRAFS 99 |

C) ©93aI4 6 QBRI 6202Q ALAIRT 60F 62 i1 94, 33 HFQ @ § 2NQ &8, 819
60@ 62 2IEARS g9 |

D) 9gaIgea gal AQAIGE 7RIS RIS 62 62 Feq 98 IS° SRR (168 @61 |

“6011 AR QAR Q2 ..... AARE AARRIQ FIIRG! GAIR ABAAER AR 6QQ” - YEER & Q&F
@4 QI2IQ QUGB AGERIER FLLE ?

A) Q8P ALIRIS T QBT G90 YIag K9S |

B) 23 gae SR ALIRIHq € Q@8 @%a2 |

C) 6QIFER 48R LRI FRLUEA RIS YT QET G906 Yeag *F83 |
D) ©93aIg6a QERIGY 6202/al ERIAIEE I8 @35 JFa Joaq 2483 |

Instructions for Qn.No.96 to 100: Read the following sentences in English quoted from a
piece of news and pick out its most appropriate Odia version from the four options given below
each of them as A, B, C & D.
Then be watchful you don't act like the boss, rather display calmness catalytic to him.
A) 6Q606R6R A6TER QT 6AAR G671 2RI I8 ISR § IR, FS° VI VLR
RAAIRG OF S8 YRS gode QA |
B) QQI606R 964 Q2 @ 9671 AITIF IR RIF @1 QIF, @8 GI AZRC FARINR ALIAS 62 |
C) 62606a6n GEG QT 64 F6C1 A IR RIF @ @9, 626M CIF YJ FANVE I @A |
D) 62606967 SIFAR QI @ RARIQ AINE ANIG QL Ie° Gl IG6RI FANVE MLTIQ KR |

When problems come, learn to watch your feelings and remain unruffled.
A) 6960626 AT IQAY 2ITRI, FER AR FTIQ i 8 25412 QL |

B) 6460626 QAQY 2GR, $OIR VIRRIQ AVS KRR JF KR I&° ATIRE QF |
C) 60606Q6% AAIQY 2ITE, FaQ 696RIq FIge @ 8 FogR g2 |
D) 64060696 AAQY 23R, IR Q6 JIFE FAQ IS FORE 62IRLS |

In fact, if you intellectually analyze, it is the problem of the boss, not yours.

A) Q12960 98 §6¢1 QRAGIA A2G F6ATE @9, 2! §F ZRYRFIRIFA AT, GAIR G6E |
B) g996a fInde 2060 6295 R6R, G2l §FIR AAAY, AR TR 6% |

C) Qe6a 0R @I6e 531 @M N2l §¢1 YAITR AN NI, YA @ YR |

D) GQ06a 9GaRIte QIR @R 6OYe 12 gAR AAQ, 9FIR ACTFS G6% |

Let us say your boss is an arrogant person who often deals roughly with you.
A) 6000 gIQ 9F G648 Q1T 6RIR I6° 62 AFIEIER §F AT ARITR AR QS |

B) uQIQIR §F 21a¢ 968 ¢d eIea sRIe A @ 93 (gesa 91 A8e gRUeRia Q93 |
C) 966192 & 9FIQ A1 R64l AVFERIF B AQ ATACA @71 ATG 2AAQ LR @43 |
D) Q2IFa @ gaQ AYRIRT 68 ALFIQT 4B T 26AS AAAER @71 AZC QA RLIR @RS |
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100. Why should you be upset and feel yourself very miserable?

~

A) 9691 QIE @ 260IAL 62IR ISR I GLRTR UGV FN?
B) 9661 QIE @ AIF 989 1e° Geg 2C 90R1a 2gae @Re?
C) g6 RQaI2 Ie° 6410918 2GaQ 9] FIZR |

D) 966 QI 08I Ie° QUAIC AGAQ AES| AP AIFR |

Instructions for Qn,No,101 to 105: Read the following sentences in Odia quoted from a piece
of narrative and pick out its most appropriate English version from the four options given below
each ofthemas A, B, C & D.

101. o1, @gd 2°a B IRHRIR AR BE4IQ ERIFAISE NAQ F10QACEg IF6aRIAR Ye
JORIA FeY LG B AR 93 2RGT FATINES |

A) Yet, the people of Odisha which is a melting pot of various cultures have
protested all these storms and made their own culture continually flourish.
B) Yet, the people of Odisha, a melting pot of various cultures and traditions, have

withstood all these pressures and made their own culture and tradition continually
flourish through the ages.

C) On the other hand, the people of Odisha, a melting pot of various traditions, have
withstood all these pressures and made their own tradition always flourish.

D) However, Odisha being a meeting zone of various cultures and traditions, its
citizens have stood against all these forces and made their own culture and
tradition survive through the ages.

102. 33610 6RIRAIER MY A°YE I9° QF QLRI AR ASE |

A) The public of Odisha are in possession of valuable culture and big tradition.

B) The people of Odisha are endowed with rich culture and high tradition.

C) The citizen of Odisha have been gifted with rich culture and high tradition.

D) The citizen of Odisha are owners of rich culture and high tradition.

103. QIRQEANIOILR BRI A°JYE 8 QA LR AIRE AL 1e° 6940R FAYR0IE 2IF G
6Q9Q 6EQYAIRE ARG ATRRIER 6AR 62227 |

A) The Odia religion and tradition mingled with that of Biharis at Rourkela, and
also matched with that of Telugus of Andhra Pradesh at Jeypore.

B) The Odia culture has mixed with that of Biharis at Jeypore and similarly matched
with that of Telugus of Andhra Pradesh at Rourkela.

C) The Odia tradition have efficiently matched with that of Biharis at Rourkela,
and matched with that of Telugus of Andhra Pradesh at Jeypore.

D) The Odia culture and tradition have successfully matched with that of
Biharis at Rourkela, and similarly matched with that of Telugus of Andhra
Pradesh at Jeypore.

104. 9210 gQ, RREREQ, AAMYR, ARQEAN 1Q° FAJA0IER APYLR A°6ARR AT |

A) The cultural fusion has taken place here at Puri, Bhubaneswar, Sambalpur,
Rourkela and Jeypore. .

B) Cultural erosion had taken place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

C) Admixture of cultures took place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

D) Instances of degeneration of culture has been found at Puri, Bhubaneswar,
Sambalpur, Rourkela and Jeypore.
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103. gqnoiea RaIRIe QAIARI A8E, FI6TeE 6398 RAIAF! ARG Y&° 6518 2 2R
Q° UWQE QTR |
A) The Jagannath rituals, the Vaishnav rites of Sri Chaitanya Dev and
Buddhism were perished at Puri.

B) The Jagannath culture, the Vaishnav culture of Sri Chaitanya Dev and

Buddhism flourished at Puri.

C) The Jagannath cult, the Vaishnav cult of Sri Chaitanya Dev and Buddhism
have moled and moulded at Puri.

D) The Jagannath religion, the Vaishnavism of Sri Chaitanya Dev and Buddhism
have started and expanded at Puri.

108.3cq1e Q@ qles FRIQ 6065 '9991E QAIQ” 5912 |

A) CgRla B) agd C) qeioR D) 6@4leq
107. gaeq oQ To- W26 604 G393 QUAZE 62IRE"?
A) 9ol B) ogd C) aszal D) g1l

108. 6g@ AAIQ6Q 91 99 §910U 0If A1 Ade 6@I9d Fe8 I AIRRIN Sleig @ AR
QI

A) Q918 B)6Q Qs  C)@ckiiea D) aNaiele
109. 860118 Q@ AIGE CRIQ 6296 2GR’ d8 F2I12 |
A) ageiel  B) geQdl C) a6 D) aoge

110 Sece QIRy Iee IQ 6066 ‘@R’ QIQY 5212 |

A) QAR 629IQ AVICNER @G 6TAER |

B) Q®i 6oml \¥e° AFIAIER Q@AIQ TR |

C) 606066R ARYI 62RI AVIANER QQAIG CTA6R |

D) QY ga6s aginIee Qg 6Tasm |
1. 36018 Q@ AIew RIQ 6296 ‘086 ae §gi2 |

A) @19 B) A& C) alogle D) i€l
112. Q6918 9@ QIGE ARIQ 6906 AIQEY 2 ‘AN T2 |

A) @9 B) & C) 6629 D) @626m
113. SORYe FRIQ 6996 AT AFA AAILRY, T2¢ /9 |

A) 9aed B) 0R%2 C) @659 D) QI9IRI4
114. G6qlie 0Q QIGE IR 6908 'Y’ AQ 5212 |

A) 28l B) 6301a8l  C) o@& D) BaRIG
115. 30RYe I 62956Q §o1A TP RTR 6IRRE |

A) ARIT 6RARER QG B) Q°gIf1 @OQ6Q AR

C) 616Q 69115 6mE] D) 610§ €04 @RI
116. 3¢ QG QIRUAIRE FRIQ 6905 ‘UL A1 Fda Q|

A) S6RRCIER SIRIFER QGRS |

B) Q@& ga6a 2Q°¢y 6304 G206 626 |

C) ¥QIa AR 690liee 23R QeI QI |

D) 69 67110 @8 o1 JIQ 6269 |
117. Seqie Q@ AIGE FRIQ 696 '@ Q0T Yo &R 5212 |

A) A9 B) @10 C) @l D) @ee



118. 560118 G AT ARIQ 6008 ‘A" AT AR 88 5212 |

A) 6548l B) 9&q® C) ged D) d&a1
119. S6q1I8 0@ FIRE FRIQ 629G 6Ae” IR 5212 |
A) ol B) g&Q€I C) grel D) Qael

120. “cQISIGE GIQe’- 18 Q@R gge 2d @ &7
A) 98g2 §eq 62el  B) el 8ea @ 624
C) Qg2 I8 @2l QITQ 2R AR
D) Qall I g@l SIQ 2R ARV
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